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golvs the following (any two)

Golve by using false position method | - 2 | ST LW
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leration.
Use ‘h‘ N-R method to estimate root of equation, i \
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|
1 3

o

E Y. =
b f(x)” X=X using xo= 0 1o obtain an accuracy up to 0.00001.

aluate integral 4
Ee f 4+ 2sinx)dx using simpson’s 3/8" rule & 173" rule where

an
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Lic)
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i L‘.]
4 Il” . t ]
ing Bisect Or {(x )=y " N . = :
By Ub, . 'on for f(x)=xe* - COs8(3x)-0.531 use initial roots x;=0 & x2=1 perform 2 i
jteration. '1
| Q.2) Solve the following (any two) (10) |
,'\pp|\" simple Euler method to solve
= =1—xy¥ if y(0)=2 find y at x=1 with h=0.1.
Obtain by taylor series the ntimierical solution of— = 3x + y? y(0)=1 find y at x=0.1
Solve by Gauss seidal 28x,+4x,X;=432 ;2 x;+ 17\:1—4\43—33 © X H3xa10X3724
Solve by Gauss Jordan 2x+2y+37=4 pdx-2y+z=9 ; x+Sy+4z=3.

Q.3 Solve any Two. 16
Fit a equation of line by least square method

[ x 0 1 2 3 -&' 4 \ 5 \l E Al
Iy [ 1.8 1.3 N 23 | 33 U 37 |
b)  Fora bivariate data n=25 Y x=125
| Z.\'2=650 Y y=100 Y vP=460 Y xy=508 find: correlation coefficient.
<) Marks in to subject A & B in a test for 10 students dre given. find the spearman rank
coefficent. : ‘
[ Marks A [ 57 [ 58 ] 59 | 59 | 60 | 6l \ €2 | 64 | 58 .| 62 |
© { MarksB 170 78] s0 | 50 | 57 | 50 ' 75 | 75 \ 68 | 67 |
~d)  The following data give the number of years in the plt & the dal\y earning of 10
minutes. . :
Years in the 5 |6 \ 9 | 5 g | 3\ S R Ll "2E ]
il \ | N
Daily earning | 32 | 25 | 30 | 34 | 30 \39\ 26 \ 23 w\ 1 \
in Rs) ' = L

Find the regression equation x on'y and y on x and also find regression coefticient.
- Q.4) Solve ihe following (any two) s 55 hodly (10)

poni , . T ¢ ‘_

a) 1200 children were classified accmdmg {0 mte!hgenge and clqthes they wore the oy

followmg table gwes the necessary information. .
- Clothing
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e [,V?l)’ well | Fotal ™ \W
: Clad _/_.“ .
Intelligence ’7‘§// s 240 -
' T 600 .
: o e BT
,': -v 7 i ,],,U/'/“ 1 700 T
rl ; ; e T OO REE= ~.
' ﬁ/ Very intelligent 1m"‘° (\ al ‘}

Total

T 0
;ith clothing
. Test whether intelligence is assocl dwi :

jate
(oHoWl“" distr lbulmn

0.01=13.28) 4 o ealed the
b) Survey of 320 families W ith 5 children each 1 e 2/;__¢_,,«.__._ : { :
4 T 4 e - 3 T

[No.ofBoys | 5

' [No.of Girls_| 0 ' P (\,:';7 at

seve S
fit a poission distribution & test the goodnes

T 5% s 11.07) T

/ing table are

] .o aolio the follow
c) In an experiment on vaccination of human being fOf'" P
obtained. ,
| | Affected
/ Inoculated | 12
| Not inoculated | 16
| Total ] 28
Given (v=1. x~ at 5% is 3.84) . a e g
d)  Inaradio listeners’survey 120 persons were interviewed and their opll;‘lClJInS«/lbOUt
_preference to Marathi or english music were asked. The results al‘w.‘_l_\\
| Typeof music 1 Marathi | English . | - T%Q—%—-\
[ ] B a0 1
L= I [ 3 g 28 NS | Y
[ Total ] 52 ] 68 120
Examine whether the preference fof miusic type is dependent on langt‘lagel o
Use 5% level of significance (x* at 5% =3.84). .
Q.5) Solve the following (any two) . I 4 : - (10)
a) Define : i) Central limit theorun :
ii)poission distribution &Normal dlStl lbutlon with properties & condition.
b) A typist kept a record of mistake made per day during 300 working days of a year
[Mtstakeperda_v . [0 I 2 - 13 14 (5 :16
| No of days - . [143 |90 |42 12 {9 \3 1

fit a binomial distribution distribution to the data. _
Calculate 1" four moments about the mean and also find £, from data
om0 o v 2 [ 3 . 41 5716 P
e Foobmg e o8 200 156 170.0] 4056+ {228 -} et

The mean and variance of binomial distribution are 6 & 3find probability that variate
takes values | R b R
i)-Less than or equal to 2 ' i) Greater than equal to 7
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fine s > i
Define student I~d|slrilmlion witl

students of 1 condin
11 tsof B.com were oiy conditiony
slver

and propertics.

b)
monthS special . tatestin Ee :
coaching and g sec In Economics analysis they were | !
follows. second test was held at the S they were imparted o (’) 4
[Swdent Fic atthe end of it the result us R\ N
\YO . 5 i : ! : ]
o Ao i 6 S
Alarks m i ] ; 1 8 \ 9 " ‘l 11 \
Prest | P46 | 32 5 \ UL PR
Narksin b A0 MR T | ' |
NN N A AR
T : | N | | ¢ p |
BN the marks gunen an ey idence m‘l[ lh‘ { | 1
coaching.(v=10 Tat 5%=2.228 ) ¢ students have benefited by extra
A A random sample of 100 patients suffering (i :
G * = ar Srteyt . .
weatment - 10was observed that 75 mlien{ rom a certain diease was given aserun
= . ) L were relive . tence I 30/
confidence limt for the percentage of pati ere relived of the dicase Find 93%
g patient cured. (93% =1.90)
d) ,‘i_/vles‘ g,\:en [_O two groups of students the marks obtained are as
_ ]‘\ group i 235 | 32 30 I 32 ! 24 14 29 ‘ - “l‘“"‘"" T -}
N VI B R T BT R B R e
1 |- | 2 31 40 |30 32 |35 |
_group | | a L
- N P . 1 1 | S
Examine the significance of difference between the marks secured the students of ’
above two group. (tat 3%avhen V=14 is 1.753) '
Q.7 Solveany three. . 13
) Solve by using Langranges interpolatiof: if
fil=1.2. t(2)=1.4. f(3)=1.8, f(6)=1.9Aind f(3).
. o d '
b) Using R-K 4™ order method find y if E)-; L ¥Z55y2 +2 when y(1)=0 at x=1,2
taking h=0.1 O S .
) Find the equation of2™ degree of parabola with the help of data
fvi LI 14 | 1.6
d) Lei X be a discrete raindorn variable with probabilit')"rniass function
B(X=N)=X/T X=1.2,3,45
. =0 otherwise
find E(x) & E(x?).
e)  Solveby Simplex method,
Max z= 2xF3X27X3
subto 3x+2x2H4x; <100
xiH4xaH2X3 < 100
x‘+x2+3X3 _<, IOO
x; x2 %3 20
f;  2025.19.17,14 constituted a random sample from a population Estimate the mean and

Iso find the estimate of S:E of sample mean. .

S.D ofthe population 2
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